

Έχουμε :

$$\begin{aligned}\alpha' \text{ μέλος} &= \eta\mu 130^\circ + \eta\mu 230^\circ + \sigma\upsilon\nu 255^\circ + \sigma\upsilon\nu 285^\circ = \\ &= \eta\mu 130^\circ + \eta\mu (360^\circ - 130^\circ) + \sigma\upsilon\nu 255^\circ + \sigma\upsilon\nu (540^\circ - 255^\circ) = \\ &= \eta\mu 130^\circ - \eta\mu 130^\circ + \sigma\upsilon\nu 255^\circ + \sigma\upsilon\nu (360^\circ + 180^\circ - 255^\circ) = \\ &= 0 + \sigma\upsilon\nu 255^\circ + \sigma\upsilon\nu (180^\circ - 255^\circ) = \sigma\upsilon\nu 255^\circ - \sigma\upsilon\nu 255^\circ = 0 = \\ &= \beta' \text{ μέλος}\end{aligned}$$